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Among the following compounds,

geometrical isomerism is exhibited by :
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The final major product of the following

reaction is :

Me )
w‘ ‘ (i) AcyO/ Pyridine
i W (ii) Bry, FeCly

‘N (iii) OH™ /A
NH,
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Which one of the following polymers is not

obtained b y condensation pDI}-‘l‘l‘lEI isation?

Options :

40503642909.

40503642910.

Nylon 6, 6

Nylon 6
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40503642911, Dakelite

40503642912, buna-N
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Options :

40503642009, &1 6, 6

40503642910, M= 6

-

40503642911, FHIES

40503642912. =N
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The following molecule acts as an :

N s
CH,)5-. |
N"'N{ 2)2~. — e
;__,,:;;LH (Brompheniramine)
L:a

Br
Options :

40503642913, ‘\nti-depressant

40503642914, Anti-bacterial
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40503642915, “Antiseptic
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Options :
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40503642916.
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The major product of the following

reaction is :

HO_ CH,CH,
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CHCH;

40503642917. O

CH,CH,

‘f{f H::;

40503642918.

40503642919.

40503642920.
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The major product formed in the following

reaction is :

CH;CH = CHCH(CHz), —22¢

Options :
CH, CH(Br) CH, CH(CH,),
40503642921. :: = eI

40503642027 3 CHa CH(Br) CH(CH,),

CH. CH, CH, C(Br) (CH
40503642923, 3 G, CH, C(Br) (CHa)y
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40503642924, Br(CHa)3 CH(CH,),
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FafatEa St 5 999 9 3732 396

T

CH3CH = CHCH(CHg ), —2*
Options :

CH, CH(Br) CH, CH(CH,),
40503642921. 2 = e

40503642920, 3 CHy CH(Br) CH(CH;),

CH., CH,, CH,, C(Br) (CH
40503642023, 3 CHp CH, C(Br) (CHy),

40503642924, Br(CHa)5 CH(CH;),
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The increasing order of boﬂ_f_ng points of the

following compounds is :

OH OH OH OH
\ Jﬁj )@

CH, NO, NH» OCH,
| I1 I11 IV
Options :

40503642925, IV <1< <TI

40503642926, L <IV<II<I
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40503642927, M <I<II<IV

40503642028, L <HI<IV<II
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OH OH OH OH
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CHj NO, NH> OCH;
I II I vV
Options :

i

40503642925, IV <I<I <l

40503642926, L <V <Ml <II

40503642927, M <I<II<IV

40503642928, LS HI<IV<II
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Correct Marks : 4 Wrong Marks : 1
The correct order of the ionic radii of
o2, N°",F ,h‘Igz' Na* and AP* is :
Options :

N3- <>~ <F~ <Na* <Mg?* <
40503642929, AT
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AP* <Mpg?* <Na* <F <02 <
N3
40503642930.

APt <Nat <Mg?t <0O?" <F~ <
N3
40503642931.

N?~ <F~ <0? <Mg?* <Na* <

34
40503642932, A1
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0?-, N*~, F~, Mg2*, Na* @a1 AP+ &
AT T 1 98 9 T
Options :
N3~- < (2~ <F~ <Na* <Mg?* <

3 I
40503642929, Al

AP+ <Mg?* <Na* <F~ <02 <
N3
40503642930.

APt <Nat <Mg?t <0*” <F~ <
40503642931,

N~ <F~ <0? <Mg?* <Na'* <

40503642932, °
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Boron and silicon of very high purity can
be obtained through :

Options :

40503642933, electrolytic refining
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Hquaﬁﬂn
40503642934.

40503642935, vapour phase refining

40503642936, Z0N€ relining

Question Number : 34 Question Id : 40503611864 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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A I 90A a9 Tofasq F=faiad 5 9
o G =T = " 2
Options :

40503642933, TAAATHEAT T
40503642934, TN JHFHIT
40503642935, 1o STl TSR

40503642936. *
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Correct Marks : 4 Wrong Marks : 1
Hydrogen peroxide, in the pure stale, is:
Options :

linear and almost colorless
40503642937.

40503642938, Pianar and blue in color

non-planar and almost colorless
40503642939.

40503642940. linear and blue in color
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BISEIE WIS IG Teee ¥ 26l € :
Options :
40503642937. tFereh T T e

40503642938, Tl AT e T

40503642939, Sranaall TET ST THT TTel

40503642040, T AT el T 1
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Correct Marks : 4 Wrong Marks : 1
The one that is NOT suitable for the

removal of permanent hardness of water
is:

Options :

40503642941, lon-exchange method

40503642942, Trealment with sodium carbonate

40503642943, “algon’s method

40503642944, Clark’s method

Question Number : 36 Question Id : 40503611866 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
frfeafaa § & wH-4t fafy swga 78 &2
Options :
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40503642941, FAA-TatTA fafs

40503642047, TN FAITE o HeF ITAR

40503642043, 1T T4

40503642944, TR 1914
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Correct Marks : 4 Wrong Marks : 1

Reaction of ammonia with excess Cl,

gives
Options :

NH,Cland N,
40503642945, 4 AN N

40503642946, NHsC and HCI

NCl, and HCl
40503642947 o

NCl, and NH,CI
40503642948, -
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s, CL, & anfasm o, afafFan a3 2

Options :

40503642945. AL,

40503642946. NE T HC

40503642947, NCl T4 HC
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NCI, @91 NH,C1
40503642948. ¥
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
The compound that has the largest
H—M—-H bond angle (M=N, O, 5,C), is :
Options :
40503642949. NH3

40503642950. 5,0

40503642951. Hy5

CH,
40503642952.
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Correct Marks : 4 Wrong Marks : 1
FfafEg 4 9 9899 H- M~ H &9 &
(M=N, O, S, C) 7@ el FT & :
Options :

40503642949, NH3

40503642950. 5,0

40503642951. Hys

CH,
40503642952.
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Correct Marks : 4 Wrong Marks : 1
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Consider the complex ions,
trans-[Co(en),Cl,]© (A) and
cis-[Co(en),C1,]* (B). The correct
statement regarding them is :
Options :
both (A) and (B) can be optically
40503642953, active.

both (A) and (B) cannot be optically
40503642954, ACHVE:

(A) can be optically active, but (B)
40503642955, cannot be optically active.

(A) cannot be optically active, but (B)

40503642956, “an be optically active.

Question Number : 39 Question Id : 40503611869 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

2 F-[Cofen),Cl,] * (A) T4
fa8-[Co(en),CL] * (B) W% w1l W fa=w
FHITSAT |
Options :
10503642053, (A) T (B) ST ST ofh 21 Hehd ¥
(A) 1 (B) =1 =11 ofer =& & e
40503642954, €

(A) g7 Juie B Hehell €, T (B) a0

40503642955. A @ i

(A) YT gV &l &1 T €, T (B)

40503642056, T VI B T T |
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Question Number : 40 Question Id : 40503611870 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

An element crystallises in a face-centred
cubic (foc) unit cell with cell edge a. The
distance between the centres of two nearest
octahedral voids in the crystal lattice is :

Options :

40503642957. V2a

]

40503642958.

el
ra] ®

40503642959.

b3 | =

40503642960.

Question Number : 40 Question Id : 40503611870 Question Type : MCQ Option Shuffling : Yes
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U e Ferdh-hi=d 949149 (fcc) THE I |
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Options :

40503642957. V2a

]

40503642958.

el
ra| ®

40503642959.

b |

40503642960.
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The correct statement about probability
density (except at infinite distance from
nucleus) is :

Options :

40503642961 [t can never be zero for 2s orbital

40503642962 [t can be zero [or 1s orbital

CiE % 1 2 .
40503642963, |t can be negative for 2p orbital

. § . y
40503642964, Ltean be zero for 3p orbital

Question Number : 41 Question Id : 40503611871 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
WigFa 99 F = T8 FY (e
H 5 @ T B[ % AfdE ) 7
Options :
TE 2s FEE F OU F I A A
40503642961, HHAT |

% 1s FeTH & faA¢ I[F B
40503642962, T T

78 2p HuF & fau HOTHS @
40503642963, Tl 1

IE 3p FHYEF w fau = =T

40503642964, 70 T

Question Number : 42 Question Id : 40503611872 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1
Lattice enthalpy and enthalpy of solution
of NaCl are 788 k] mol ~! and 4 k] mol ~1,
respectively. The hydration enthalpy of
NaClis:

Options :

i 1
40503642965, /80 kJ mol

. 1
40503642966, /54 KI mol

_ 7 = 1
40503642967, — /B0 K] mol

/ 1
40503642968, /54 k] mol

Question Number : 42 Question Id : 40503611872 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
NaCl %t Sieish TaedT o1 foera= uedr sHH:
788 K] mol ~1 T 4 k] mol~! &1 NaCl F1
Options :

7 1
40503642965, /o0 K] mol

; 1
40503642966, /04 k] mol

__ ™ < 1
40503642967, ~ /80 K] mol

J 1
40503642968, o+ k] mol
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
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The variation of molar conductivity with
concentration of an electrolyte (X) in
aqueous solution is shown in the given
figure.

Molar ,
Conductivity

v

The electrolyte X is :
Options :

40503642969, HC1

40503642970, Nacl

40503642971. KNO,

CH,COOH
40503642972. -

Question Number : 43 Question Id : 40503611873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
et forer #, U S ST (X) F A
o HIYE HIe Flershdl & fa=ed & et

o=t o gr Faefua e s 2 |
e | |
\
 S— -
Je '

A ATX T :
Options :
40503642969, HC]
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40503642970, Nacl

40503642971. KNGy

CH,COOH
40503642972

Question Number : 44 Question Id : 40503611874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The rate constant (k) of a reaction is
measured at different temperatures (T), and
the data are plotted in the given figure.
The activation energy of the reaction in
k] mol~lis : (R is gas constant)

10,
In k
5.
~4 3 3 4 B
103
L
Options :

40503642973, R

40503642974, /R

2
40503642975. 2/R

40503642976, 2R

Question Number : 44 Question Id : 40503611874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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(T) T2 A1 STl & 91 3RS & A fad
o= & e T <t &1 swfufean =t wfwam
Foi kf mol 1 H ¥ : (R T fooiw )

107,
-
In k
571
0731 3 3 4 3
103
T
Options :

40503642973, R
40503642974, /R
2/R

40503642975.

40503642976, 2

Question Number : 45 Question Id : 40503611875 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Adsmrptinn of a gas follows Freundlich
ads::rq:rtion isotherm. If x is the mass of the

gas adsorbed on mass m of the adsorbent,

i
the correct pEDt of — wversus p i
m

Options :

40503642977.
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40503642978.

40503642979.
= 270K
. _~_1250K
m| WK
40503642980. P

Question Number : 45 Question Id : 40503611875 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

U T8 &1 afuwmy wEeefas afuwimm
AT o5 T AT A1 & | A Afersio
F Hefd m W Afenfoa 79 = "efax 2 dip
%?F.Hﬁ;sﬂ% 1 HE 2 E

Options :

40503642977
200K
x 250K
m K
P
40503642978.
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_—270K

- 1250 K
— 200K
40503642979, P
= 270K
. ,f, 250 K
5
40503642980, P
Sub-Section Number : 2
Sub-Section Id : 405036836
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611876 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Considering that A, > P, the magnetic
moment (in BM) of [Ru{HEOJGJE:' would
be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002

Question Number : 46 Question Id : 40503611876 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ay > P R faaR %4 84, [Ru(H,0) P #
JAHE AN (BM H EW |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.002
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Question Number : 47 Question Id : 40503611877 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The volume, in mL, of 0.02 M KECrZD?

solution required to react with 0.288 g of

ferrous oxalate in acidic mediumis

(Molar mass of Fe=56 g mol 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 47 Question Id : 40503611877 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
0.288 g THTH SARICIZ &, FEE AT H,
AT &g 0.02 M K,Cr,0- % 59 s
(mL ) =1 A=A e, 92d |
(Fe &1 Hiel 5599 ="56 g mol 1)
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For a dimerization reaction,
2 A(g) = Aa(g).

at 298 K, AU® = —20k] mol "1, AS®= - 30
] K mol~ !, then the AG® will be
. E
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U fgaaa &Afafs,

2A(g)— As(g),

% feg, 208 K 7, AUS = —20 k] mol 1,
AS®= —30]K 'mol 1% w9 stfufFa &
fagac®em ]
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For a reaction X+Y =27, 1.0 mol of X,

1.5 mol of Y and 0.5 mol of Z were taken

inal L vessel and allowed to react. At

equilibrium, the concentration of Z was

1.0 mol L. The equilibrium constant of

X
the reacionis E The value
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Afuferan, X+Y =27 & fam, X =1 1.0 9=,
YH I5A@ N ZFH05 9@ H 1 LIHH
ferm tran ® wen 3= sfufwan = fean s
€| U W, Z %1 |rEdl 1.0 Wi giaeiet g
At =1 g fows 2
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The number of chiral carbons present in

SUCTosSe 1s _
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